ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2022
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

BASICS OF HUMAN BODY (BHB-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)

(Objective Questions)
(agfrss ge=)

Attempt each questions: 50x2=100
J&A® Yl & X a-

(1) Energy is necessary for -

(a) Growth (b) Development
(c) Respiration (d) All
Holl I AMAITHAT Il & 51 &Il d —
(a) f& (b) feT™a
(c) Tas (d) @+t

(2) Carbohydrate is absorbed in body in the form of -
(a) Glucose (b) Amino Acid
(c) Both (d) None
PIelgssT INR ERT 59 Y ¥ oNf¥q glar @ —— —
(a) @IS (b) Tt tfrs
(c) ==t (d) BIg =&l

(3) Cause of Atheroscelerosis is excess of -
(a) Protein (b) Cholesterol
(c) Both (d) None
Atheroscelerosis 9 dcd @1 3Iferedr & SR &idl & —
(a) 9id= (b) BidTETA
(c) =i (d) BIg =12l

(4) Beneficial bacteria are present in -
(a) Small Intestine (b) Large Intestine
(c) Both (d) None
Sy dhRar o o € —
(@) B aifa (b) 9 aifa

(c) =i+t (d) I



(5)

(6)

(7)

(8)

(9)

(10)

Jejunum is the part of -
(a) Small Intestine

(c) Both

SIGH AT 8 —

(a) BILY 3Afa &1

(c) qr=t

Type of blood is -

(a) RBC

(c) Platelets

Yad BIRMERT & YR & —
(a) dITd Yad BOTHT

(c) wicdcH

Liver secrets -

(a) Bile juice

(c) Both

forax gt wfaq =iar 2—-
(a) 915a S

(c) ==t

The store of bile juice is -
(a) Intestine

(b) Large Intestine
(d) None

(b) <Y 3T &1
(d) &g Tl

(b) WBC

(d) All

(b) Tdq Yqa HOTHR
(d) ==t

(b) Saliva

(d) None

(b) ¥etrar

(d) ®Ig 2

(b) Gall Bladder

(c) Both (d) None
el S[H &1 HUE shar 8 —

(a) affd (b) e
(c) qI=it (d) &g TE
The soldiers of human body is -

(a) WBC (b) RBC

(c) Both (d) None
A9 IR A S 991 3 aRE FH BRA & —
(a) WBC (b) RBC

(c) qI=i (d) &g TE

They contain Hydrolytic enzymes -

(a) Ribosomes
(c) Both

(b) Lysosomes
(d) None

3 grsgifdfed Twors¥ ghdr 8—

(a) TZESITRT
(c) gI=nt

(b) aTsATETR
(d) Big Tl



(11)

(12)

(13)

(14)

(15)

(16)

Fuel of Cell is-

(a) Glucose (b) Protein

(c) Both (d) None

B BT I8 & —

(a) eI (b) T

(c) gI=it d) &g TE
Structural and functional unit of human body is -
(a) Tissue (b) Cell

(c) Both (d) None

AG YRR B AI TS 9 fharchad 318 2 —
(a) Hdd (b) @Yer

(c) qI=it (d) &g TE

First part of Large Intestine is -

(a) Appendix (b) Duodenum
(c) Both (d) None
99 3Afd BT USdT AT & —

(a) viftsaa ( ) SfeTH
(c) qI=it d) ®ig gl
Rectum is the part of -

(a) Stomach (b) Spleen
(c) Large Intestine (d) None
HATI™ 1T 28—

(a) =™ @1 ( b) wieT &1
(c) a1 Afd B d) dIg &l
Leukemia is disorder of -

(a) Blood (b) Heart
(c) Both (d) None
o T TeeLt @ —

(a) ¥ad @ ( gad B
(c) <i+Il @1 d) &g TE

Type of WBC is -

(a) Lymphocyte (b) Monocyte

(c) Basophil (d) All

WBC @& &R &—

(a) ferrmiaTse b) #iTSE
(c) I (d) =+t



(17)

(18)

(19)

(20)

(21)

(22)

Human blood is -

(a) Alkaline (b) Acidic

(c) Both (d) None

ASI &I 3qd a—

C)EEIGIER! (b) vffs®

(c) <t (d) B¢ =T

It is related to Humoral immunity -

(a) T-Lymphocyte (b) B-Lymphocyte
(c) Both (d) None

¥ Humoral immunity & a¥afad 8 —

(a) A—fermivrge (b) fi—ferwrarge
(c) <t (d) B¢ T
____is necessary for digestion of fat -

(a) Bile juice (b) Bilirubin

(c) Both (d) None

T § urad & ford gg oredt § —

(a) 91gd S (b) faefiefas

(c) qI=it (d) &g TE

The functions of Small Intestine are -

(a) Digestion (b) Secretion

(c) Absorption (d) All

BIdl 3fd & & § —

(a) 9= (b) Tar

(c) emyor (d) a+t

Normal value of Hb in a healthy person is -

(@) 20 + 1 gm/100 ml (b) 14 + 1 gm/100 ml
(c) Both (d) None

Uh wxel Aafad ¥ Hb &) 9ram & —

(@) 20 + 1 gm/100 ml (b) 14 + 1 gm/100 ml
(c) <=t (d) &g TE
Symptoms of Jaundice are -

(a) Yellow skin (b) Yellow sclera
(c) Both (d) None

fiferar & @& 8-

(a) drell ca=n ( b) dreft st

(c) <=t EIEE



(23)

Red colour of RBC is due to -

(a) Hemoglobin (b) Protein
(c) Both (d) None
I8 RBC &I &Tdd 37 QT 28—
(a) EFvarfaa ( b) W=
(c) &=t d) ®1g Tl
(24) Required Carbohydrate value in diet is -
(a) 30% (b) 50%
(c) 20% (d) None
Mo ¥ BElgsgce @ AeHdr 8 —
(a) 30% (b) 50%
(c) 20% (d) ®Ig ==Y
(25) Power house of a Cell is -
(a) Nucleus (b) Mitochondria
(c) Both (d) None
B BT I B8 © —
(a) YfaerTa (b) ArgCiHITgAT
(c) g4t (d) &g =1
(26) Stomach secrets -
(a) Gastric juice (b) Hydrochloric acid
(c) Both (d) None
maTer afad &xar @ —
(a) MRg® S (b) eTSgIdaiR® This
(c) qI=it (d) &g TE
(27) Cause of Anemia is -
(a) Malnutrition (b) Hook worm infection
(c) Both (d) None
T & sror & —
(a) FuISoT ( ) gFad
(c) qr4l d) &g TE
(28) The number of Neutrophil increases in following disease -
(a) Cellulitis (b) Empyema
(c) Both (d) None
e @1 G&ar 39 WM H gedl @ —
(a) Geyarsfed (b) g=uTZHI

(c) &=t (d) I T



(29)

(30)

(31)

(32)

(33)

(34)

Achylia Gastrica is a disorder of -

(a) Stomach (b) Liver

(c) Both (d) None

Achylia Gastrica TsdST 28—

(a) JATHTIR DI (b ) AT DI

(c) gt @Y ?b‘Tﬁ Tl

Hemostasis is checked by the process of -

(a) Vasospasm (b) Thrombocytic plug formation
(c) Both (d) None

Yadgrd &1 g faftral gwT a1 W gadr © —

(a) Vasospasm (b) Thrombocytic plug formation
(c) <t (d) B &

The fluid present in Cell is known as -

(a) Cytoplasm (b) Nucleoplasm

(c) Both (d) None

B A TAT SI9 9TelT d¥el bEeldl 8—

(a) AIgCIwITSH (b) =f¥resriveTsH

(c) gI=i (d) &g TE

It connects Nucleus to Cell Membrane -

(a) Endoplasmic Reticulum (b) Mitochondria

(c) Both (d) None

qg D<Pd Dl B P ool A Sisdr @ —
(a) Trsiwias feqHan (b) ATgCIHIf~gAT

(c) =i (d) &g TE
Group of similar Cells is known as -

(a) Organ (b) Tissue

(c) Both (d) None

t% ol STl & U & BT Sar & —

(a) 3T (b) &dd

(c) <=t (d) ®Ig &1
Cartilage and bone is a type of -

(a) Muscular tissue (b) Nervous tissue
(c) Connective tissue (d) None
3Rer 9 SUTRY 39 UHR & Hdd o—

(a) wEHeR feeyg (b) 7dw fewyg

(c) Bfea fevy (d) I T



(39)

(36)

(37)

(38)

(39)

(40)

AIDS is caused due to -
(a) Bacteria
(c) Both

AIDS & &I &1 BRI 2 —

(a) dFARAT
(c) qr=it

Normal value of ESRis -
(a) 0-20mm/1 hour

(c) Both

ESR & 94 99 2 —
(a) 0-20mm/1 hour

(b) Virus
(d) None

(b) AR
(d) ®Ig 1€
(b) 0-50mm/1 hour

(d) None

(b) 0-50mm/1 hour

(c) qI=i (d) &g TE
Proteins Synthesized by microbes is known as —
(a) Antibody (b) Antigen

(c) Both (d) None

SHATY] §RT Wefda &9 drer WidE bl 8 —
(a) TIdTST (b) T=atH

(c) =t (d) B1g =T

If RH Factor is present in blood, the blood group will be -
(a) Positive (b) Negative

(c) Both (d) None

Ife vaq # RH haex A9 & df &d s —
(a) urfsifea (b) feifea

(c) qI=it (d) &g TE
Parotid is a type of -

(a) Teeth (b) Salivary gland
(c) Both (d) None

Rifes 16 gaR @ —

(a) gfal &1 (b) R T @1
(c) g9 &1 (d) &g TE

It is a voice box -

(a) Larynx (b) Pharynx

(c) Both (d) None

qE WX A ? —

(a) dR%a (b) BRa

(c) It (d) B¢ T



(41)

(42)

(43)

(44)

(49)

(46)

A ‘J’ shaped organ in human body is -

(a) Large Intestine (b) Small Intestine
(c) Stomach (d) None

A9 IRR A )’ ATHR BT 3T & —

(a) 997 3ffa (b) BT 3ifa

() ITHT (d) ®Big 1)
Appendix is a part of -

(a) Large Intestine (b) Small Intestine
(c) Stomach (d) None

v fsag |rr @ —

(a) 92 3ifd &1 (b) BIEY 3ifa &1
() 3IMHTI &I (d) &g TE
Protein is necessary for synthesis of -

(a) Enzymes (b) Hormones

(c) Both (d) None

YIS A S 2 59d AIAYUT b forg —

(a) goig= (b) BFHI=a

(c) qI=i (d) ®Big &l
Store house of fat in human body is -

(a) Subcutaneous tissue (b) Perennial tissue
(c) Omentum (d) All

AT YRR ¥ 99T &1 GUE B8R & —

(a) Heagef v feeyg (b) RfvTaer feeyg
(c) 3A~<H (d) |+t

These are essential for human body in certain amount -
(a) Cholesterol (b) Fat

(c) Both (d) None

A9 IRR @ fog a8 Y=g w=n A smaws 2 —
(a) BrAXgTe (b) a1

(c) <1 (d) ®Ig &
Glucose is stored as Glycogen in -

(a) Kidney (b) Liver

(c) Both (d) None

@Il TARGIGE & ®U A F&l WUEd sl & —
(a) g7 (b) T

(c) <i=i (d) BIg T



(47) Source of roughage in food is -

(a) Leafy vegetables (b) Fruits
(c) Both (d) None
Aqis9 ¥ roughage & 9ld & —
(a) &8 ydsrR afesr i (b) wel
(c) qI=it (d) i =&l
(48) Who needs more calories/day -
(a) Sedentary workers (b) Moderate workers
(c) Heavy workers (d) All
fea ufv foa af @ ford St &) aftrean smavasar =idt @ -
(a) R qard (b) HieRe aa
(c) Bdl aod (d) Y
(49) These are formed in lymph nodes -
(a) Monocyte (b) Lymphocyte
(c) Both (d) None
A forpaisa # s9d & —
(a) AIFTE (b) ferrmiare
(c) s (d) BIg TE¥
(50) Jaundice due to Gall Bladder stone is -
(a) Pre-hepatic (b) Hepatic
(c) Post-hepatic (d) None
e st} @I 9o @ HROT & arar fiferar @ —
(a) N—feidfew (b) Erdfew

(c) Mree—fRifes (d) P 7L



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2022
ASPEUS CORRESPONDENCE COURSE-SEM - 1(CAHS)

CHINESE ACUPRESSURE (CA-1)
TIME — 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (TS Y¥)

Attempt each questions: 50x2=100
Jd® 9l @ IR Q-

(1) In “Sujok” — “Jok” means -

(a) Leg (b) Hand

(c) Head (d) None

“Sujok” H “Jok” ®T 3ref & —

(a) U= (b) BT21

(c) R (d) 3 @ B T
(2) Yinorganis -

(a) Stomach (b) Gall Bladder

(c) Kidney (d) None

Jagd B —

(a) A=A (b) RrcaTer™

(c) ga® (d) g7 @ B T
(3) Green colour related element is -

(a) Fire (b) Wind

(c) Earth (d) None

T YT ° gHfEd @ 8-

(a) st (b) a1y

(c) gedt (d) g4 & ®Ig T
(4) Meaning of TCM is -

(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian

(c) Traditional Chinese Man (d) None

TCM &1 3ef 8 —

(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian

(c) Traditional Chinese Man (d) 39 | ®ig 8]



(5)

(6)

(7)

(8)

9)

Lungs related energy is -

(a) Wind (b) Heat

(c) Dryness (d) None

BHS Pl Holl & —

(a) arg (b) ST

(c) gsbalr (d) 37° & g 21
Arm will be treated on -

(a) Index finger (b) Middle finger

(c) Thumb (d) None

&1 BT SUAR BT —

(a) i+l 4R (b) HEIHT WX

(c) IS W (d) 379 | ®ig LI
Tonification colour of Kidney is -

(a) Green (b) Red

(c) Blue (d) None

qdb D1 Holl 9611 ardr 3T 8 —

(a) & (b) @ret

(c) frem (d) g7 & B3 T
Bone Marrow meeting point is -

(a) GB-9 (b) GB-39

(c) GB-10 (d) None

Bone Marrow meeting fa=g 2—

(a) GB-9 (b) GB-39

(c) GB-10 (d) 379 | ®ig g1
Which point will be applied after becoming unconsciousness -
(a) GV-26 (b) GV-3

(c) GV-10 (d) None

“dEer” B9 R &9 9 fag w g9@ T -

(a) GV-26 (b) GV-3

(c) GV-10 (d) 3 @ I T



(10)

(11)

(12)

(13)

(14)

(19)

Energy of Liv-1 is -

(a) Heat (b) Coldness
(c) Wind (d) None
Liv-1 @Y SHort 28—

(a) S™TdT (b ) efiaerar
(c)arg d) ®ig Tel
Sedation colour of Stomach is -

(a) Green (b) Red

(c) Blue (d) None
T & SHoll Ter™ ardr 3T & —

(a) 311 (b) <t

(c) ~frer (d) I TN
“Joy” emotion related organ is -

(a) Liver (b) Heart
(c) Spleen (d) None
B I 1 O ARG E o Ol o B
(a) pd (b) g<a

(c) witeT (d) BIg T
Last point of Heart meridian is located on -
(a) Small finger (b) Index finger
(c) Middle finger (d) None
g @ AAfsTT &1 siftm fag Rera @8-
(a) sfs®T W= (b) ot W=
(c) wiegH T R (d) &g 18l
Appendix will be treated on -

(a) Thumb (b) Index finger
(c) Rt palm (d) None
Appendix (ATAYeS) BT ITAR T —

(a) TS W (b) asi=t T
(c) TTfE=r el wx (d) B3 &N
Controller of Heart is -

(a) Liver (b) Kidney
(c) Spleen (d) None
g3 & fFrias 8-

(a) 7% (b) g7

(c) witar (d) ®ig =11



(16)

(17)

(18)

(19)

(20)

(21)

Distal point for chest is-

(a) P-3 (b) P-2

(c) P-6 (d) None
BIdl ® SUAR &T T fa=g 2

(a) P-3 (b) P-2

(c) P-6 (d) BIg Tl
Horary point of Spleen is -

(a) Sp-3 (b) Sp-6

(c) Sp-10 (d) None
& &1 Horary fa=g 2—

(a) Sp-3 (b) Sp-6

(c) Sp-10 (d) g T
3 am to 5 am related organ is -

(a) Kidney (b) Spleen
(c) Lungs (d) None
3am ¥ 5 am wHElua @ga 2—

(a) ga® (b) whET
(c) BHS (d) B T
Humidity related organ is -

(a) Liver (b) Stomach
(c) Kidney (d) None
AT ar wEfud aad @ —

(a) g&d (b) STHTII™
(c) ga® (d) ®Ig T
Total point of Kidney meridian is -

(a) 27 (b) 30
(c)40 (d) None
q9% @1 HNfeTT & qa fag -

(a) 27 (b) 30

(c) 40 (d) BIg T
Sweet taste related organ is -

(a) Liver (b) Heart
(c) Stomach (d) None
HI3 w@re ¥ grfud aaa 32—

(a) IRd (b)

gl
(c) 3T (d) &g =T8I



(22) Left knee will be treated in -

(a) Rt Index finger (b) Lt Middle finger

(c) Rt Small finger (d) None

9 ged &1 SUAR B —

(a) gTfE= goii w= (b) arfY wegH T UR

(c) TTfe Hffts®dr w® (d) ®dig &l
(23) Creator of Earth element is -

(a) Fire (b) Metal

(c) Water (d) None

gedl dd BT Yold & drell dd @ —

(a) ¥ (b) &1g

(c) oret (d) B &
(24) Organ source point of Kidney is -

(a) K-1 (b)K- 2

(c)K-3 (d) None

@@ &1 Organ source fa=g 82—

(a)K-1 (b)K- 2

(c)K- 3 (d) &g =2f
(25) Eye Correspondence will be in -

(@) Thumb (b) Index finger

(c) Middle finger (d) None

Gl BT QG BT —

(a) 33 (b) Tt &

(c) HeT H (d) I LY
(26) Distal point for Abdomen is -

(@) St-1 (b) St -2

(c) St-36 (d) None

e @ M BT eI fawg 2—

(a) St-1 (b) St-2

(c) St-36 (d) &g &
(27) Pair organ of Spleen is -

(a) Stomach (b) Kidney

(c) Liver (d) None

el &1 g AqAq 2—

(a) JmHrET™ (b) 9o

(c) uBd (d) BIg =Tel



(28) Opening of Kidney organ is -

(a) Nose (b) Ears

(c) Tongue (d) None

9% 3JA9Id BT R & —

(a) -TI® (b) &1

(c) st (d) ®1$ =7
(29) Which point to be applied after unconsciousness due to high blood

pressure -

(a)K-1 (b)K-9

(c)K-10 (d) None

Jod X 910 & HRYT 4819 Bl W B9 4 fdg WX q91d ]9 —

(a) K- 1 (b)K-9

(c)K-10 (d) &g TE
(30) Front Shu point of Stomach is -

(@) Cv-12 (b)Cv-3

(c)Cv-4 (d) None

AT &1 Front Shu fa=g 2—

(@) Cv-12 (b) Cv-3

(c)Cv-4 (d) &g TE
(31) Hotness energy related element is -

(a) Wood (b) Fire

(c) Water (d) None

9yar ST A gHfuaa @ @ —

(a) &rs (b) arf¥q

(c) otet (d) BIg T
(32) Skin & body hair related organ is —

(a) Liver (b) Spleen

(c) Lungs (d) None

w4l U4 INR & drell ° gHEfod 3aad 2 —

(a) aga (b) wireT

(c) BHS (d) g =T
(33) Summer season related element is -

(a) Water (b) Fire

(c) Metal (d) None

o7 kg 9 gafaa aa 2 —

(a) Srel (b) 31f¥

(c) =rg (d) &g T8



(34)

(39)

(36)

(37)

(38)

(39)

Muscle meeting point is -
(a) GB-2

(c) GB-34

Muscle meeting fa=g 2 —
(a) GB-2

(c) GB-34

Liver related emotion is -

(a) Anger

(c) Fear

qHd § wHEfud A @ —
(a) ig

(c) s}

Tonification colour of Kidney is -
(a) Green
(c) Blue

(b) GB-1
(d) None

(b) GB-1
(d) ®ig 2l
(b) Joy

(d) None

Uq—dr

BIg TEl

(b)
(d)

(b) Red
(d) None

9a® B Holl 9¢ ardT I 8—

(a) &
(c) =frerr

Xi-Cleft point of Lungs is -
(a) Lu-6

(c) Lu-11

Bhs BT Xi-Cleft fag 2 —
(a) Lu-6

(c) Lu-11

Coldness related element is -
(a) Fire

(c) Metal

faaar @ gEfad da 2—
(a) 3=

(c) &g

Metal related organ is -

(a) Kidney

(c) Lungs

gTg dd | wfud aaua @ —
(a) g7

(c) BB

(b) <ret
(d) ®Ig =TEl
(b) Lu-10
(d) None

(b) s
(d) &g =T8I

(b) Liver
(d) None

(b) aed

(d) &g T8I



(40)

(41)

(42)

(43)

(44)

(49)

Passage point of Heart is -
(a) H-5
(c) H-2
§<d &1 Passage fa=g 28—
(a) H-5
(c)H-2

Controller of wood is -
(a) Fire

(c) Metal

P16 & e 2 —
(a) arff

(c) &g

Energy of Earth element is —

(a) Heat
(c) Coldness

godl ad B Holl & —
(a) S™ordr
(c) ehderar

(b) S1e
(d) &g T8

(b) Humidity
(d) None.

(b) srrear
(d) BIg =TEl

Large Intestine meridian starts from -

(a) Index finger
(c) Middle finger

(b) Thumb
(d) None

ot arfa @ AARET Yo e 2

(a) asi=t &
(c) w=rT |

Wind point of Lungs is -
(a) Lu-3
(c) Lu-11
BH2 BT Wind fimg 28—
(a) Lu-3
(c) Lu-11

Energy of K-10 is -
(a) Heat

(c) Humidity

K-10 & sl 28—
(a) SwTar

(c) agar

(b) 33 &
(d) &g =T8I

(b) Lu-4

(d) None

(b) Lu-4

(d) BIg T
(b) Coldness

(d) None

(b) efderar
(d) BIg T



(46)

(47)

(48)

(49)

(50)

Rt elbow correspondence will be -

(a) Lt Middle finger
(c) Rt Index finger

(b) Thumb
(d) None

gifeft sra & argeaar st —

(a) arfY wemwm |
(c) <rfe=f aoi+it A

Analgesic point is -
(@)Li—4
(c)Li—6
Cfara fag 8-
(a)Li—4
(c)Li—6

Tonification colour of Lungs is -

(a) Yellow
(c) Brown

(b) TS A
(d) &g =T8I

(b) Li-1
(d) None
(b) Li—1
(d) BIg T

(b) Red
(d) None

BHs Bl Holl IS drell X7 & —

(a) drer
(c) X

Water is the mother of -
(a) Earth

(c) Fire

Siel dcd H1dT @ —

(a) gedt @

(c) afeT Y

Controller of Metal is -
(a) Fire

(c) Water

gTq dcd &1 s 28—
(a) afiq

(c) Siet

(b) <ret
(d) BIg T

(b) Wood
(d) None
(b) BT DI
(d) BIg =Tl
(b) Earth

(d) None

(b) gedft
(d) dIg Tl



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2022
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

AYURVEDIC ACUPRESSURE (AA-1)
TIME - 1.30 HRS MAX MARKS-100

(ONLINE EXAM)

Objective Questions (G5 U¥)

Attempt each questions: 50x2=100
9d® Yl @ I} Q-

(1)  Which one is Metaphysical element -

(a) Akash (b) Prithvi

(c) Kaal (d) None

38 4 Wifde daa &9 91 & —

(a) ITHT (b) gedi

(c) ®ret (d) 1% T
(2) How many sense organs are there -

(@) o (b) 4

(c)3 (d) None

‘gRfgal &d feat geR @ gt & —

(@) 5 (b) 4

(c) 3 (d) BIg =T
(3) Which tissue is plotted on ‘Lt IF P jt’ -

(a) Plasma (b) Bone

(c) Blood (d) None

B9 A arq Lt IF P jt° v Rera @—

(a) x4 (b) arfker

(c) Xad (d) ®Ig &
(4) Element number 8 is related to -

(a) Lt MF (b) Rt MF

(c) LtIF (d) None

a dear 8 gHEfa @ —

(a) IrfY wems T | (b) erfY wegs T |

(c) arfY aofh @ (d) BE T



(5)

(6)

(7)

(8)

)

Combination of Jal + Prithvi will make -

(a) Vaat (b) Pitta

(c) Kapha (d) None
S + gedl &1 WINT 991dT & —

(a) ard (b) forc

(c) P (d) BIg =T
In word ‘Ayurved’, Ayu means -

(a) Life (b) Death
(c) Knowledge (d) None
Igde § Ay &1 I © —

(a) Sfra= (b) 7]

(c) 9 (d) ®1g T
‘Gonads’ endocrine gland is plotted on -

(@) Rt SF P jt (b)LLIF P jt
(c) Rt RF P jt (d) None

" Gonads’ 3fa-ardl ufer Rera & —

(@) Rt SF P jt (b)LLIF P jt
(c) Rt RF P jt (d) &g TE
Which one is a action organ -

(a) Nose (b) Arms
(c) Eyes (d) None
HHfea o @ 2 —

(a) 9IT® (b) a1

(c) 3 (d) BIg =T
How many types of general attributes are -
(a) 30 (b) 20
(c)10 (d) None
AT 9T fhae bR & Bld & —

(a) 30 (b) 20

(c) 10 (d) Big =Tl



(10)

(11)

(12)

(13)

(14)

(19)

‘Kaal’ element related number is -

(a) 5 (b) 6

(c)7 (d) None

BT GrEfea ST 8—

(@) 5 (b) 6

()7 (d) BIg T
Energy of Kaal element is -

(a) Aim (b) Determination
(c) Ahankar (d) None

BTl dcd B SHoll a—

(a) <i&a (b) Tbed

(c) IEBR (d) &g 18l
Which one is a common attribute -

(a) Practice (b) Hot

(c) Cold (d) None
T T 8 —

(a) I (b)

(c) as1 (d) BIg &l
As a action organ, Legs are plotted on -

(@) Lt MF P jt (b) Rt MF P jt
(c)RtIFPjt (d) None
HUfeT & wu ¥ UX Rea @ —

(@) Lt MF P jt (b) Rt MF P jt
(c)RtIF P jt (d) &g 18l
Reproductive tissue is plotted on -

(a) Rt MF (b) Rt IF

(c) Lt MF (d) None

b o Rea @ —

(a) TR JeT (b) srfY asi+h
(c) IR HEHT (d) BIg =gl

As per Ayurveda biological clock, Pitta-Pitta time is -
(@) 10 am — 2 pm (b) 4 pm -8 pm
(c)1Tam -4 am (d) None
Igdfesd da ud) & IFaR R &1 a7 2—
(@) 10 am — 2 pm (b) 4 pm —8 pm

(c)1am—4 am (d) I TLY



(16) Limbic system related finger is -

(@) F.No. 7 (b) F.No.8

(c) F.No.9 (d) None

Limbic system awfaa 2—

(a) F.No.7 (b) F.No. 8

(c) F.No.9 (d) BIg &l
(17) Smell is the energy of -

(a) Agni (b) Jal

(c) Prithvi (d) None

T Holt 2 —

(a) st (b) STeT T

(c) gedt B (d) B T
(18) Tulyarthata of throat will be in -

(a) Middle finger (b) Ring finger

(c) Thumb (d) None

Tl B AIGTIAr 28—

(a) HegHT (b) s=TfIST

(c) 3i[eT (d) ®Ig Ll
(19) Pineal endocrine gland is plotted on -

(a) Rt MF P jt (b) Lt MF P jt

(c) Lt SF P jt (d) None

e o Rea @ —

(a) Rt MF P jt (b) Lt MF P jt

(c) Lt SF P jt (d) I TN
(20) Element number 0 and 9 is plotted on -

(a) Both IF (b) Both MF

(c) Both Thumb (d) None

T 0/9 | wHfaa et @ —

(a) Both IF (b) Both MF

(c) Both Thumb (d) B3 &l
(21) Sensory organ eyes are plotted on -

(@) IF (b) MF

(c) RF (d) None

Iy ® wu ¥ e Rea € —

(a) asi=t W= (b) egHT UR

(c) BT U (d) &g T8



(22) Pons and cerebellum organs relate to which element -

(a) Kaal (b) Disha

(c) Man (d) None

Pons and cerebellum 2r@aqd | g+fEd a@ 8 —

(a) &rel (b) feem

(c) 7= (d) BIg =Tl
(23) Radiance is the energy of -

(a) Akash (b) Vayu

(c) Agni (d) None

GAT FHoll & —

(a) MTHTI DI (b) arg &1

(c) 3T &Y (d) &g 1l
(24) Combination of Agni+Jal will make -

(a) Vaat (b) Pitta

(c) Kapha (d) None

I + ST ST FAT G B—

(a) ard (b) fare

(c) ®® (d) BIg =T
(25) Nucleus of brain is plotted on -

(a) Thumb (b) Index finger

(c) Middle finger (d) None

Brain Nucleus fRera 2—

(a) T[S W (b) asi=ft W=

(C) AT R (d) Big Ll
(26) As per body hole, reproductive hole is plotted on -

(a) Lt MF (b) Lt IF

(c) Rt MF (d) None

TEIf®e ® wU A o9 g Rera 2—

(a) ar=fT wegHT (b) IrfY T+

(c) SR e (d) &g &
(27) Bone Marrow tissue is plotted on -

(a) F.No.5 (b) F.No.6

(c) F.No.7 (d) None

arferroot arg Rera & —

(a) I FE=AT 5 (b) I Aw=AT 6

(c) et Hwr 7 (d) ®Is €



(28)

(29)

(30)

(31)

(32)

(33)

Kid/UB organs related element is -

(a) Agni (b) Jal
(c) Vayu (d) None
Kid/UB 3r9aq w+&fad ad 8 —

(a) af= (b ) STel

(c) arg d) e T
How many types of tri-sutra are -

(a)3 (b) 2

(c)5 (d) None

Bra feas yaR @ ' -

(a) 3 (b) 2

(c) 5 (d) ®ig =Ll
Tulyarthata of knee will be -

(a) Both IF (b) Both SF

(c) Both MF (d) None

g @ argeaar ghfi—

(a) <=1 asiT ( b) g9l HfiRs®T
(c) TI=I weagsT d) &ig gl
Thyroid and Parathyroid glands locate on -

(a) Both RF P jt (b) Both MF P jt
(c) Both IF P jt (d) None
ARRIIS U4 IRRIRIS T3 Rea & —

(a) Both RF P jt (b) Both MF P jt
(c) Both IF P jt (d) I T
Which element are related to Vaat -

(a) Agni + Jal (b) Jal + Prithvi
(c) Akash + Vayu (d) None

qrd e acal | 991 @ —

(a) A + SIad ( ) O + gedi
(C) JATHTL + ATy d) &ig gl

In word ‘Ayurved’ ved means —

(a) Knowledge (b) Life

(c) Death (d) None
IRdE ¥ 9 &1 arad @ —

(a) == (b ) St

(c) 17 d) 13 -TEl



(34) Organs related to Vayu element is -

(a) Liv/iGB (b) H/Si

(c) Kid/UB (d) None

9y d@ wHEfud aad -

(a) Liv/iGB (b) H/Si

(c) Kid/uUB (d) I TLY
(35) Touch is the energy of -

(a) Agni (b) Akash

(c) Vayu (d) None

et Suf @ —

(a) IfsT®r (b ) JTHTA DI

(c) arg & d) &g T
(36) Which organ is plotted on Rt SF V jt -

(a) Large Intestine (b) Small Intestine

(c) Stomach (d) None

Rt SF V jt X &9 4T 3rqua Rera 2—

(a) 99 3rTq (b) BIY 3ra

(c) T (d) I TN
(37) As per Action organ, Speech is plotted on -

(@) LtIF P jt (b) Lt MF P jt

(c) Lt RF P jt (d) None

HUfeg & wu ¥ aoft Req 2-

(@) LtIF P jt (b) Lt MF P jt

(c)LtRF Pt (d) ®Ig TE
(38) Which tissue is plotted on Rt RF P jt -

(a) Bone (b) Blood

(c) Plasma (d) None

®i9 W o1g RtRF P jt iR Rera @ —

(a) 3fRer (b) Y&

(c) ¥« (d) BIg Tl
(39) How many horizontal meridians are -

(a) 8 (b)9

(c)10 (d) None

afos Fdfsa feah s 2-

(a) 8 (b) 9

(c) 10 (d) BIg Tl



(40)

(41)

(42)

(43)

(44)

(49)

Reproductive organs are plotted on -

(a) F.No.1 (b) F.No.0

(c) F.No. 3 (d) None

ST 31T fRera 8-

(a) 3ATell I—1 WX (b) 3Tl W—0 WX
(c) 3iTelt §—3 W (d) ®Ig TE
During 6 month of Pregnancy, on which finger treatment will be given -
(a) F.No.6 (b) F.No.7

(c) F.No.8 (d) None

THiGE & B3 #elH H fd9 Al d IuAR BT —
(a) el HE&AT 6 (b) el w&=AT 7
(c) 3Tl HeT 8 (d) ®Ig TE
Which meridian flows from top to bottom —

(a) Horizontal meridian (b) RLHM

(c) Vertical meridian (d) None.

SR 9 3 fea FAfsas &1 gare @ -

(a) &fasr FdfsT= (b) RLHM

(c) ergad #dfsa= (d) Big T
Pancreas endocrine gland is located on -
(@)LtIF P jt (b) RtIF P jt

(c) Lt MF P jt (d) None
Yfmarer Tt ufyr Rea 28—

(@) LtIFPjt (b) RtIF P jt

(c) Lt MF P jt (d) &g 1l

How many types of action organ are -

(@) 5 (b) 6

(c)7 (d) None
HAfeal o frad geR &) Bl 2—

(a) 5 (b) 6

(c)7 (d) B =T
Kidney organ is located on -

(a) Rt MF K jt (b) Rt RF K jt
(c)RtIFKijt (d) None

fors 3raua Reag @ —

(a) Rt MF K jt (b) Rt RF K jt
(c)RtIF K jt (d) &g TE



(46) As per body hole, mouth is plotted on -

(47)

(48)

(49)

(50)

(a) F.No.5
(c) F.No.7

T'IfBs @ U H 47 Rera & —

(@) ATl |5 WX
(c) 3Telt W.7 WX

Sound is the energy of -

(a) Akash

(c) Agni

3eq SHoll a—
(a) ATHT
(c) afi

Stomach organ is plotted on -

(a) Lt IF V jt
() Rt RF V jt

TG 3aud Rerg 28—

(a) LtIF Vjt
(c) Rt RF V jt

Thymus gland is located on -

(@) RtIF P jt
(c) Lt RF P jt

(b) F.No.6
(d) None

(b) I H.6 TR
d) ®Ig el

(b) Vayu

(d) None

(b) arg
(dﬁﬁqﬁ
(b) Rt RF K jt
(d) None

(b) Rt RF K jt
(d) ®Ig T

(b) L IF P jt
(d) None

“reHg’” Ia:grdl U Rerg & —

(@) RtIF P jt
(c) Lt RF P jt

Which is a physical element -

(a) Kaal
(c) Disha

&I 91 Hifas a9 & —

(a) ®raa
(c) feem

(b) Lt IF P jt
(d) &g T8

(b) Agni
(d) None

(b) @if
(d) &g T8I



